Attitude Tineline

ORBI TER
MET/ GMI' M\VR OPTI ON DAP E/ S/ B |REF ATT/ REMARKS EVENT
111 GN\D TRACK RATE 0.2000|LVLH R= 35.27 |-ZTDRS
005/09:14: 00 M{TGT =3 P = 90.00 |DB AT 1.000 P= 24.53 |[LPT: TDRS Comm
27: 02 BV =3 Y= 0.00 |DB RT 0.020 Y=343. 45 |TDRW 08: 58- 09: 50
oM = 20.00
022/ 00:53: 00 G LAT = 0. OOON
01: 06: 02 M\VR B9/ AUTQO VERN LON = -174. 000W
HOLD (sane) B=-54 ALT = 19323. 0nm
112 LVLH TRACK RATE 0.2000|LVLH R=275.23 |[BIAS - XLV - YW
005/ 09:42: 00 M|TGT = 2 P = 163.00 [DB AT 1.000 P= 91.53 |MEIDEX: Sprite
51: 40 BYy =5 Y= 0.00 |DB RT 0.020 Y=343. 07 |NITE 09: 52-10: 21
OM = 85.00 RAM AT 10: 27
022/01:21: 00 G EARTH R 0
30: 40 M\VR B9/ AUTQO VERN P 163 SAA 09:57 - 10:06
HOLD (sane) =-54
113 G\D TRACK RATE 0.2000|LVLH R= 21.82 |[-ZTDRS
005/10:21: 00 M{TGT =3 P = 90.00 |DB AT 1.000 P=251.96 |[LPT: TDRS Comm
30: 35 BV =3 Y= 0.00 |DB RT 0.020 Y=331.81 |TDRW 10: 34-11: 25
oM = 30.00
022/ 02: 00: 00 G LAT = 0. OOON
09: 35 M\VR B9/ AUTQO VERN LON = -174. 000W
HOLD (sane) B=-54 ALT = 19323. 0nm
114 LVLH TRACK RATE 0.2000|LVLH R=275.23 |[BIAS - XLV - YW
005/11:12: 00 M{TGT = 2 P = 163.00 |DB AT 1.000 P= 91.53 |MEIDEX: Sprite
21: 42 BYy =5 Y= 0.00 |DB RT 0.020 Y=343.07 |NITE 11:22-11:51
OM = 85.00
022/ 02:51: 00 G EARTH R 0
03: 00: 42 M\VR B9/ AUTQO VERN P 163 SAA 11:31 - 11:42
HOLD (sane) B=-54
115 LVLH TRACK RATE 0.2000(LVLH R= 0.00 [-ZLV -XW
005/ 11:55: 00 M|TGT = 2 P = 90.00 (DB AT 1.000 P=180. 00 |MSTRS: Warm Up
12: 03: 57 BV =3 Y= 0.00 |DB RT 0.020 Y= 0.00
oM = 0. 00 Crew OFf Duty
022/ 03:34: 00 G EARTH R 0
42: 56 M\VR B9/ AUTQO VERN P 90
HOLD (sane) B=-54
116 LVLH TRACK RATE 0.2000|LVLH R=345.00 [BIAS -ZLV - XW
005/13:10: 00 M|TGT = 2 P = 90.00 [DB AT 1.000 P=180. 00 |MSTRS: Phase 2
11: 15 BYy =5 Y= 15.00 (DB RT 0.020 Y= 0.00
oM = 0. 00
022/ 04:49:00 G EARTH R 15
50: 15 M\VR B9/ AUTQO VERN P 90 90 - 13:19:43
HOLD (sane) B=-54 94 - 19:19:23
117 RO 1 16:39 - 16:43 Ronme BI AS -ZLV - XW
005/ 16:30: 00 M|[RO 1 18:10 - 18:17 Rone Crew OFf Duty
MElI DEX: Dust
022/ 08:09: 00 G
MSTRS
118 LVLH TRACK RATE 0.2000(LVLH R= 0.00 [-ZLV -XW
005/19:20: 00 M|TGT = 2 P = 90.00 (DB AT 1.000 P=180. 00 |MElI DEX: Dust
21: 15 BYy =3 Y= 0.00 |DB RT 0.020 Y= 0.00 |19:44 - 19:51Rone
oM = 0. 00 21:19 - 21:21Rone
022/ 10:59: 00 G EARTH R O LPT: Ground Comm
11: 00: 15 M\VR B9/ AUTQO VERN P 90 MLA 22:34 - 22:38
HOLD (sane) B=-53 MLA 01:45 - 01:49
ALL ORBI TER DATA IN 1-1 107 FLT

MEAN OF 1950 AND PYR EULER SEQUENCE




